
�mi.fit�: 181 
Total No. of Questions : 18 ] 

��1{'8T1't�:11 
[ Total No. of Printed Pages; 11 

�:3�] 
Time : 3 hours ] 

General Instructions : 

S-2A+

J-201100-A

Pcltiitt : a1fon,
Subject : Mathematics 

;ftz":'Wift'��4,,�l(I 

Note : Attempt all questions. 

m-q; 'q"q"{ efil" �lct:t4cfH11 °t I

Graph paper is required. 

Use of calculator is not permitted. 

[1{'11fq, : 7 5 
[ Maximum Marks : 75 

(ii) � � 1 if � WU6 f I WU6 ( al) if ◄§fqcfi(,-<flq �, �

(Gf) if ftcffl � efil" 1{ffl cl"-ff WU6 (�) if �/� � 1N: f I

��lR:1 ��t1

Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write
true /false are given. Each question carries 1 mark.

(iii) � � 2 � 6 cfcfi �@ct!!dtRllf � f I � � lR 2 �

3ii◄flt1 f I

Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks.

P.T.O. 
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I 2 I 

(iv) w-J ~ 7.) 10 cl'"cfi aifoc:'l~a'dtl<I ~ f 1 ~ w-J ~ 3 at.I; 

~fl 
Question Nos. 7 to 10 are very short answer type questions. 

Each question carries 3 marks. 

(v) w-J ~ 11 .) 14 c1q, c:'l~a'dtl<I w-J f 1 ~ w-J if am!Rcli 
fi.:lcfi<i<l ~ I ~ w-f ~ 4 a:j-q, <>lloifc!.i:1 f I 

Question Nos. 11 to 14 are short answer type questions. Each 

question has an internal choice. Each question carries 4 marks. 

( vi) w-J ~ 1 S v;cf 16 c:'l~d'd{l<I ~ f I~ w-J if a:iraftq, fi.:lcfi<i<l 

t I ~ w-f ~ 5 at.I, 311-ifc!.i:1 f I 
Question Nos. 15 and 16 are short answer type questions. Each 

question has an internal choice. Each question carries 5 marks. 

(vii) w-J~ 17 v;ct 1ts ~-ia'd<l<I ~f l~w-Jif aii<:1Rcfi fi.:lcfi<."I 

tl~w-J~ 6 at.l;~f I 
Question Nos. 17 and 18 are long answer type questions. Each 

question has an internal choice. Each question carries 6 marks. 

-w-f-1 (l§q-af)~ fi.:lcfi<i<l ~( f<."lf&Q.: 

S-2A+ 

(Part-A) Choose and write the correct option : 

(i) * P(x) = x2 + 3x + 2 if, "lit P(3) q;r llR' m1lT : 
( 37) 3 

( -,) 9 

( <?) 18 

( G') 20 

If P(x) = x2 + 3x + 2, then the value of P(3) will be: 

(a) 3 

(b) 9 

(c) 18 

(d) 20 

[ I] 

-
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[13 I 

(iz) qll f!.fitfi{Oj x2 - 2x + 1 = 0 ~ fqfcji:fijtf,l_ CfiP:!R m1JT : [ 1] 

( a,) 0 
;, • ( "1) 1 

<m 2 

( G') -2 
h The value of discriminant of quadratic equation x2 - 2x + 1 = 0 will be : 

1 
(a) 0 

(b) 1 

(c) 2 

(d) -2 

r 
(iii) ~ (3, -5) ~ "ifg~ if m? [ 1] 

( a,) ,fep:j "ifg~ 

< "') ~ ..,1~r~, 
< m ~ "i=l'g~ 

( G') "qg?.f 'i:j~ 

Point (3, -5) lies in which quadrant? 

(a) First quadrant 

(b) Second quadrant 

(c) Third quadrant 

(d) Fourth quadrant 

(iv) COS 30° X SeC 30° <fiT l!r-f m1JT : [ 1] 

( a,) 1 

( "1) 2 

<m 3 

( G') ✓3 

S-2A+ P.T.O. 
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I 4 l 

The value of cos 30° x sec 30" will be : 

(a) 1 

(b) 2 

(c) 3 

(d) ✓3 

(v) ~ ~ 3,000 "{;, 1R ffl8JT ~ 3% cf,l' ~~ID : 

( 37) 900 "{;, 

c -n 90 "{;. 

( 'ff) 3 00 "{;, 

( G') 30 "{;, 

What will be education cess at the rate of 3% if taxable income is 

Rs. 3,000? 

(a) Rs. 900 

(b) Rs. 90 

(c) Rs. 300 

(d) Rs. 30 

~-1 (~-1f )~~ cf,l'iffe~: 

(Part-B) Fill in the blanks : 

The arithmetic mean of ( ✓2 + 1) and ( ✓2 - 1) is __ _ 

(ii) 4, 7, 8 q;f~<ll:j,qio'i ___ t I 

The fourth proportional of 4, 7, 8 is __ _ 

The longest chord of a circle is __ _ 

[ 1 l 

[ 1 l 

[ I l 

[ I l 

s 
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~ 

Ii I 

(iv) sin(90°-63°) cfi1 lTT'l' ___ moTt" I 

The value of sin(90° - 63°) is __ _ 

The sum of two odd numbers is always __ _ 

( ~-~) ~ 3l~ ~ fi.'lf@Q, : 

(Part-C) Write true or false : 

Squares of all sizes are similar. 

The coordinates of origin are (x, y). 

The volume of sphere with unit radius is 11( cubic unit. 

(iv) ~ if <9IBl ~~~PAN cfi1 ffl ~ l I 

To open an account in a bank PAN is must. 

If all the angles of quadrilateral are equal, then 60° is the measure of 

each angle. 

"lw-f-2 lTT'I' ~ <f>lf<i!Q,: c~s55° + sin35° 
sm35° cos55° 

Findthevalueof: c~ssso + sin 350 

sm35° cos55° 

"lw-f-3 <lfu: ( 3 + x) : ( 5 + x) : ( 8 + x) it, Ill X cfi1 lTT'I' ~~I 

If (3 + x): (5 + x): (8 + x), then find the value ofx. 

[ 1] 

[ 1] 

[2] 

[2] 

S-2A+ P.T.O. 
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~-4 3x2 - Sx + 2 = 0 ~ 1'@T 'fil <tl•ilh<:'1 ~cf !I0l'ilh<:'1 ;ii@ cf>lf"1Q, 1 

Find the sum and product of the roots of 

3x2-5x+2=0 

Find the average of first ten natural numbers. 

[2] 

[2] 

[2] 

Calculate the distance of point (2, 5) from the origin. 

~-7 ~ ~ fc!l (4x3 + 3x2 + 2x - 9) cli1 (x - 1) ~ 'IWT ~ 1R ill:llh<:'1 ~ 

t, ~] 

Prove that on dividing (4x3 + 3x2 + 2x - 9) by (x - l) the remainder 

is zero. 

~-8 q'1f f!..flcf>{Oj 9.x2 - 3x - 2 = 0 cli1 ~~I 

Solve the quadratic equation 9.x2 - 3x - 2 = 0. 

Prove that the sum of three consecutive even numbers is always a 

multiple of 6. 

~-10 'Q,<f, <fl+<il<fffi<I ~ ~ 3lNJ< 'cf>1 W!:l 88 'WIT. t I~~ 'cf>1 ~ 10 'WIT. t, 
-ar ~ q;J aw«R ~ cf>'lf"'ll., 

The circumference of the base of a right circular cylinder is 88 cm. If the 

height of the cylinder is 10 cm, find the volume of the cylinder. 

~-11 2 'WIT. ~ c!Tffi 64 ,flf<'l<tl cli1 ~ <ITT 'Q,cfi" ~ lTI<:'11 oR1<11 Tf<IT I~ 1'fR;f 'cf>1 

~ ~ cf>lf"1Q, I 

WA+ 

A big sphere is made by melting down 64 small spheres, each of radius 

2 cm. Find radius of the big sphere. 

[3] 

[3] 

[4] 

-
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l] 

l] 

l 

l 

l 

arfRT 

OR 

~ ~ ~ ~ ~ <fiT ollR1 12 WIT. c1e:rr ~ s WIT. t m ~ <fiT ~ ,po 
~ 3W«R w (1 i:f>l f..,, Q, I 

If diameter of the base of a cone is 12 cm and its height is 8 cm, then find 

the total surface area and volume of the cone. 

~ 0-10 10-20 20-30 30-40 

~ I 12 24 32 

Find the median of the following table : 

Class Interval 0-10 

Frequency I 

~ 0-10 10-20 

~ 4 5 

10-20 

12 

20-30 

24 

3fWe1T' 

OR 

20-30 30-40 

16 12 

Find the mode of the following table: 

Class Interval 0-10 10-20 20-30 

Frequency 4 5 16 

40-50 50-60 

10 5 

30-40 40-50 50-60 

32 10 5 

40-50 50-60 

3 2 

30-40 40-50 50-60 

12 3 2 

[4] 

~-13 w.r;: i:f>lf..,,ll. fcfi-"~"" f!qi:f>lu1 ~ ff <fi1IT <fiT cf1f ffi ~ ,pnaif ~ qtif ~ <WT 

S-2A+ 

~-w-Ri!ml1" [4J 

Prove that-"In a right-angled triangle, the square of the hypotenuse is 

equal to the sum of the squares of the other two sides." 

P.T.O. 
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~-14 

If I 

31WllT' 

OR 

~ ~ ~ f:;f;e:rr 20 WIT. % I GI' oRfoR 3ffi: ~Ill.fl{ ~ail' t' ~ ~ ~ 24 WIT. 

%1~~~~~1 

The radius of a circle is 20 cm. The distance between two equal and parallel 

chords is 24 cm. Find the length of chord. 

~ ~ ~ q;"] ~4}cfi{UI ~ cfftf;;fli, f-,m<f>1 l,lq0ldl 
7 % cf~~~ ( 6, 0) ft 
3 

~~%1 [4] 

Find the equation of that straight line which passes through the point ( 6, 0) 

and whose slope is '!... 
3 

31WllT' 

OR 

~'&Im~ 3N-IT ~ if 5 ~ ~ ~ 1-q'rq f<r-rr if -RI s1l; ~ ~ lITTIT 

q f<r-rr 'cf, I f.l "'!if c:fid flRUIT if ~ ~ % : 

3 

2 

A man filled 5 liters of petrol in the fuel tank of his vehicle. The table 

below shows the five days and the petrol remaining on those days : 

Day I 2 3 4 5 

Quantity of petrol remaining (in liter) 4 3 2 I 0 

Draw a graph between the petrol remaining and number of days. 

~-15 ~~~~~if 200 ~- Slfdlll\! ~ G\ ft 5 cf'i t' ~ 3llc@T ~ 

l§RIT ~I~~ ~G\ 6% ~m, #r 5 cf'i Wi=1RI. ~ ~ ~ ~ 

S-2A+ 

~? ~] 

Vasim opened a recurring deposit account in Punjab National Bank. He 

deposits Rs. 200 per month for 5 years. If rate of interest is 6% per annum, 

find the amount he will receive at the time of maturity. 

.. 
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[4] 

S-2A+ 

~ 

OR 

~ qtf 2013-2014 ~ ~ ~llftcf>l'-l q;tf-.:11tl "cf>1 ~ ~ 3TTll 3,60,000 ~- ~ I 

~ 20,000 ~- -;;ftcR <Wt\ q'ff(1fn cf;!~ ~lf>l'-ll-1 ~ 4,000 ~- llfol-11~ ftil-11.-ll 

~ f.ffel ~ ~ ~ l I~ .NT ol'q'ffl ~ ~ "cf>l at'~ ml-IT 1,00,000 ~­

l m ~ 3Wlqi"{ "cf,11'J'1lRT ~ 1 

~- ~~· auq~~lfi'T~ 

l. 2,00,000 ~- (l"q; ~3Wlqi"{"'ttft 

2. 2,00,001 ~- ~ 5,00,000 ~- (l"q; 10% 

3. 
5,00,001 ~- ~ 10,00,000 ~- (l"q; 20% 

The income of a government employee in financial year 2013-2014 was 

Rs. 3,60,000. He deposited Rs. 20,000 as yearly premium on life insurance 

policy and Rs. 4,000 every month in General Provident Fund. If a maximum 

of Rs. 1,00,000 can be invested in any type of saving to qualify for tax 

rebate, then calculate the payable income tax. 

The rates of tax are as follows : 

Sl. No. Tax Limits Rate of 

Tax 

l. Up to Rs. 2,00,000 NIL 

2. Rs. 2,00,001 to Rs. 5,00,000 10% 

3. Rs. 5,00,001 to Rs. 10,00,000 20% 

In addition, a 3% education cess has to be paid over ~e mcome 

tax. 

P.T.O. 
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I :UI I 

~-16 v,cli ~ PQR "'7' ~, i:f>'lf-olQ, 1 WJ if v,cli 3W ~ ABC "'7' ~ ~ 

f;;R:ril AB=
2

PQ m1 
3 

Construct a triangle PQR. Construct another triangle ABC along with it in 

2 
such that AB = - PQ. 

3 

~ 

OR 

f:;r~ ABC % "tfftr@' ~ "'1 ~ ~ f;;R:rif AB = 6 .)1:fi., L4 = 45°, 

.t.B= 60° t-1 ~%~ \fl f\'.'lfelQ,1 

Construct a circwncircle of MBC, where AB= 6 cm, L4 = 45°, .t.B = 600. 

Write the steps of construction. 

~-17 m"I ffi-11.fl< ~ % n llGT ~ lfl•Jq,<.1 ~: SI' S2, S3 t' I <!ft::~ ~qi[>Jl'.!1'! 

~, "ijei, ff,off.fl< ~: ,, 2, 3 m, m w,i;. cfi1f-o1Q, fcl> 

S·2A+ 

SI+ S3 = 2S2 

Swns ofn terms of three arithmetic progressions are SI' S2, S3 respectively. 

If first term is 1 for every progression and common differences are 1, 2, 3 

respectively, then prove that S1 + S3 = 2S2. 

OR 

"tJT'q qif ~ llU ~ ~ ~ q:ft ~ q:ft fuTit ¥ft I ~ qif ~ llU ~ ~ ~ 

ctt ~ ctt ~ m -;;mMT 1-ittt q ~ ~ ctt cffll'IR ~ ~ ~ 1 

5 years ago, I was three times as old as my son. Ten years hence, I will be 

twice as old as my son. Find my present age and my son's present age. 

cos 0 sin(900 -0) 
2 

(
9

1\0 
0
) + =cotv-

sec(9O0 - 0) + 1 cosec0 - 1 

[5] 

■ 

[6) 

[6] 
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[5] 

[6] 

5] 

S-2A+ 

I 11 I 

Prove that 

cos 9 sin(90° -9) 
2 

(900 9
) -----+ ---- = cot -

sec(90° - 9) + 1 cosec9 - 1 

~ 

OR 

~ -gqT 'Q ~~~qi{ 'fi:m l!"i cfi'l: ~~-cm:: 'Q 6 ~ ,tt ~'IR~ "'1 l{(IT 

t I~ frnrr ~ 'Q 60° q;t ffl 'iA'Rll t I~~ '<tt ~ ~ cf>'lf"11( I 

A tree breaks to storm and the broken part bends so that the top of the tree 

touches the ground making an angle 60° with it. The distance between the 

foot of the tree to the point where the top touches the ground is 6 meters. 

Find the height of the tree. 

1,50,000 

j 
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!i" m ..it lRilll : 18 I 
Total No. of Questions: 18 I 

~~'f'o'f ll>'tlRIIII: 11 

[ Total No. of Printed Pages : 11 

lPP1: 3-.vt) 
Time : 3 hours J 

General Instructions : 

S-2B+ 

J-201100-B 

~tilq: •lfold 

Subject : Mathematics 

W: ll'fr~~ ifil~Q,I 

Note : Attempt all questions. 

WJ; ~ of,l 31icI1'<lcifidl t I 

Graph paper is required. 

Use of calculator is not permitted. 

[~:75 
[ Maximum Marks : 75 

(ii) "ffi ~ 1 if "ffl"I ~ f I ~ ( al) if ◄§~cifi~<l "ffi, ~ 

(al) if ft<l<I ~ q,111fcf (!'IT~ (~) -i:f mq/~ ~ "1J1l; f I 

mci; -m lR 1 oicti anaifc!d t 1 

Question No. 1 has three parts. In Part (A) Multiple choice 

questions, in Part (B) Fill in the blanks and in Part (C) Write 

true / false are given. Each question carries 1 mark. 

(iii) "ffi ~ 2 ~ 6 "dCfi 31fd<¥t!d~(lq "ffi f I mci; "ffi lR 2 3fcti 

~f I 

Question Nos. 2 to 6 are very short answer type questions. 

Each question carries 2 marks. 

P.T.O. 
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S-28+ 

l 2 I 

(iv) ~ ifi'lfcti 7 ~ 10 c1q, 31fdcl'!la'dO<I ~ f I~~ lR 3 ~ 

31i◄fld 'f I 
Question Nos. 7 to 10 are very short answer type questions. 

Each question carries 3 marks. 

(v) ~ ifi'lfcti 11 ~ 14 c1<fi cl'!i3'd0<1 m ft~~ -q 31idR.i:fi 

fqqi~ ~··~~1R4 ~~ft 
Question Nos. 11 to 14 are short answer type questions. Each 

question has an internal choice. Each question carries 4 marks. 

(vi) ~ifi'lfcti 15 ~ 16 cl'!i3'dO<I ~f I ~~-q 31idR.ifi fqqif<l 

tt~~lRS ~31i◄fld ~I 

Question Nos. 15 and 16 are short answer type questions. Each 

question has an internal choice. Each question carries 5 marks. 

(vii) ~ifi'lfcti 17 ~ 18 ;5.fa'dO<I ~f t~~-q 31idR.ifi fdlifi~ 

t I ~~lR 6 ~ 31i◄fld f I 

Question Nos. 17 and 18 are long answer type questions. Each 

question has an internal choice. Each question carries 6 marks. 

<.....--at> ~ r.-..,~ ~ r~r&'< : 
(Part-A) Choose and write the correct option : 

(1) ~ P(x) = 6x2- 5x + 111, ill P(l)~lWf m: 
( 37) l 

( <i) 2 

( ~) 5 

( G') 6 

If P(x) = 6x2- 5x + l, then the value of P(l) will be 

(a) l 

(b) 2 

(c) 5 

(d) 6 

[ l] 

-
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S-2B+ 

l 3 I 

(ii) ciTf fli:ili.fi{OI x2- 3x + 2 = 0 % fctfctq(li.fi{ q,l ~ ID : 
( ar) 1 

( .;) 2 

(~) 3 

( ~) -1 

[ 1] 

The value of discriminant of quadratic equation x2 - 3x + 2 = 0 will be : 

(a) 1 

(b) 2 

(c) 3 

(d) -1 

(iii) ~<-1,-3)~~~-ilm? 

(ar) ~~~ 

( <i) ml\cl "'4!!,"-1~1 

(~) ~~~ 

(~) ~tf~~ 

Point (-1, -3) lies in which quadrant? 

(a) First quadrant 

(b) Second quadrant 

(c) Third quadrant 

(d) Fourth quadrant 

(iv) tan 3()" X COt 3()" q;f ~ miJT ; 
( ar) 1 

(<i) _I 
✓3 

(~) ✓3 

( ~) I 
3 

[ 1] 

[ 1] 

P.T.O. 
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[ 4] 

The value oftan30" x cot30° will be: 

(a) l 

l 
(b) ✓3 

(c) Jj 

(d) l 

3 

(v) ~ Wlf'l-l ~~-if &!l"(;;r cf>l l'J'OAT ~ 31!'!-.TR ~ cf>l -;;nm%, m qJf$i; 

~ qi) ft;r:rr -;;JAT ~ : [ l] 

( 37) 31T"ll 

(<f) ~-.tr~ 

( ~) "'ifR "TIT 

(G') ~ 

If in fixed deposit the interest is calculated quaterly, then rate of 

interest per annum will be : 

(a) half 

(b) one-fourth 

(c) four times 

(d) twice 

~-1 ( ~-1') WR!~ cf>l 1!,ffi i:f>lfsiio,: 

(Part-B) Fill in the blanks : 

(i) (✓3 + l) 3W: (✓3 - l) cfil «Bl-{t< ~ __ %1 

The arithmetic mean of ( ✓3 + 1) and ( ✓3 - 1) is __ _ 

The fourth proportional of 5, 6, l O is __ _ 

cuo M ~ cfiT o!!m "300 ~ cf>l mm i, ---
Diameter of any circle is ___ of its radius. 

S-2B+-

[ l] 

[ 1] 

[ l] 
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I 

I 
' I 
I 

Is I 

(iv) cos(90° - 53°) cffi lfR ___ itffl t I [ I] 

The value of cos(90° - 53°) is __ _ 

(v) ~ fcr:rq 3:/R ~ w:T mgqf cffi ~ ~ __ mgqf m"ITT t I [ I] 

The sum of an odd and even number is always __ _ 

( ~-~) ~ ~ ~ f<.'lfoJQ,: [ Jx5=5] 

(Part-C) Write true or false : 

(i) ~,fi ~qf•l~"i <ils:Pf ~ ,fi m ~ I 
All congruent polygons are similar. 

The x-coordinate of any point on y-axis is zero. 

A cuboid has 9 edges. 

The period from I st April to 31st March is taken as financial year. 

If all the angles of quadrilateral are equal, then 90° is the measure of 

each angle. 

~-2 <IR (I + x) : ( 3 + x) : ( 6 + x) m, ell x <ffi lfR ~ cf>lf"1Q, I 

Find the value of x if (I+ x): (3 + x): (6 + x). 

~-3 ~ (3, 4) cfil ~ ~ ~ ~ ~(1 cf>lf"1Q, 1 

Calculate the distance of point (3, 4) from the origin. 

~-4 ll'R~~: sec50° + sin56° 
cosec40° cos34° 

F. d h I f sec50° sin56° mt evaueo: ---+--
cosec400 cos34° • 

[2] 

[2] 

[2] 

S-2B+ P.T.O. 
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I 6 J 

3x2 + 7x + 1 = 0 ~ ~ q;j 4\•l'l'il'i ~ 1°1'ilfil'i ~(1 i:f>?lf'11ll. I 

Find the sum and product of the roots of 

3x2 + 7x+ 1 = 0 

~-6 Jlert=r ~ ~ 'ffi9!113IT q;J afma ~ i:f>lf'11ll. I 

Find the average of first ten even numbers. 

~-7 ~ i:f>l~ll. fci; (2x3 + x2 - 5x + 2) '1fil' (x + 2) ~ ~ ~ "q°( ~tllfii.'i ~ 

[2] 

[2] 

t I [3] 

Prove that on dividing (2x3 + x2 - 5x + 2) by (x + 2), the remainder 

1s zero. 

~-8 'll."i (-i◄'{ffi4 ~ ~ 3mm: 'i:f>'r ~ 44 'Wfi. i I~~ 'i:f>'r ~ 10 'Wfi. t 
m ~ q;J ~ ~ if>'lf'11t1.1 

The circumference of the base of a right circular cylinder is 44 cm. If the 

height of the cylinder is 10 cm, then calculate the volume of the cylinder. 

~-9 ~ i:f>lf<illl. fq; (2n + 3)2 - (2n - 3)2 q;J 'll."q, 1011&0:g 8 t ~ n 'll."i'li!¥1 'ffi9!11 

[3] 

t, ~] 
Prove that a factor of (2n + 3)2 - (2n - 3)2 is 8, where n is a natural 

number. 

~-10 'cl1f fi'11cf,(Uj 6x2 + 7x + 2 = 0 '1fil' ~~I 

Solve the quadratic equation 6x2 + 7x + 2 = 0. 

~-11 2 'Wfi. ~ cflffi 64 •llf<ii<ff q;'j' ~ ~ 'll."i ~ Tftffi ~ lJ<IT I ~ '1r@ 'i:f>'r 

[3] 

~~~I [4] 

S-2B+ 

A big sphere is made by melting down 64 small spheres, each of radius 

2 cm. Find radius of the big sphere. 

~ 

OR 

-
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S-2B+ 

I 7 I 

<iR ~~iii ~ c!il '&Im 12 'Wit. if?.11 ~ s 'Wit. t m ~ c!il ~ ~ 

am: 3W«R ~ c:f>I f"1 Q, I 

If diameter of the base of a cone is 12 cm and its height is 8 cm, then find 

the total surface area and volume of the cone. 

Find the equation of that straight line which passes through the point 

(6, 0) and whose slope is 
7 

3 

31WlfT 

OR 

~'1xlm~ ~~ii 5 ~~ 'IRqfllll~"F<Mfii...)~~'c:f>llITTIT 

cf "ftMf 'c:f>l f.l..=tif<f>d ~ii~ Tf'llT t : 
3 4 5 

2 0 

A man filled 5 liters of petrol in the fuel tank. of his vehicle. The table 

below shows the five days and the petrol remaining on those days : 

Day I 2 3 4 5 

Quantity of petrol remaining (in liter) 4 3 2 I 0 

Draw a graph between the petrol remaining and number of days. 

lfl1Rlt 0-10 10-20 20-30 30-40 40-50 50-60 

~ I 12 24 32 10 5 

Find the median of the following table: 

Class Interval 0-10 10-20 20-30 30-40 40-50 50-60 

Frequency I 12 24 32 10 5 

[4] 

P.T.O. 
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~ 0-10 10-20 

~ 4 5 

I 8 I 

31wPifT 

OR 

20-30 30-40 

16 12 

Find the mode of the following table: 

Class Interval 0-10 10-20 20-30 

Frequency 4 5 16 

40-50 50-60 

3 2 

30-40 40-50 50-60 

12 3 2 

~-14 ~ cf>'lf"'IJ. fcf;"-"V:cti fll-lcf>',01 ropr if "if;1lf cj;f <flf ~ ~ ,prai'i * qtjf * <ftlT 
*oR!iRmoTt"," [4] 

Prove that-"In a right-angled triangle, the square of the hypotenuse is 

equal the sum of the squares of the other two sides." 

31wPifT 

OR 

"Q,Cfi <fl "cf>l ~ 20 "@'IT. t' 1 ~ oRliR aft~ fll-lHH fflai'i * .frq "cf>l ~ 24 °@ft. 

t' I -;;f\qi "cf>l ~ ~ ~ I 

The radius of a circle is 20 cm. The distance between two equal and parallel 

chords is 24 cm. Find the length of chord. 

~-15 "Q,Cfi rop1 PQR "cf>l ~~I <'II~ m "Q,Cfi am: for,pr ABC "cf>l ~ ~ 

~ AB=
2

PQ 'tll 
3 

S-2B+ 

Construct a triangle PQR. Construct another triangle ABC along with it in 

2 
such that AB = - PQ. 

3 

OR 

[5] 
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I 9 I 

~ ABC ~ ,ffe1m ~ 'cf,1 ~ cf,lf"1Q,, ~ AB = 6 ~., LA = 45°, 

LB = 60° ~I~~~ 'I-ft f~f&Q, I 

Construct a circumcircle of D.ABC, where AB = 6 cm, LA = 45°, LB = 60°. 

Write the steps of construction. 

~-16 qmiJ ~~~~if 200 ~. llfdq1g 'cf,1 Gl:.) 5 <flf ~ ~ 3TicRIT -;;rm 

~~ I*~ 'cf,1 Gl: 6% ~i), ill 5 <flf ~ ~ ~ ~ '5111:(f 

m-ift? 

Vasim opened a recurring deposit account in Punjab National Bank. He 

deposits Rs. 200 per month for 5 years. If rate of interest is 6% per annum, 

find the amount he will receive at the time of maturity. 

31W1!fT' 

OR 

f<.re't<! <flf 2013-2014 if 'Q_cl, 1(11:gcf,l<I q;q,u:(l ctTT ¥f ~ 3Wt 3,60,000 ~. ~ I 

m 20,000 ~. ~ .ft1'!T q'jf('HTI q;T ~ Stlf<-1<1q <i~ 4,000 ~. 1,1faq11; ;g1q1.J.1 

~ f.:if!-.T if -;;rm fcl;"<j"j ~I*~ of'q"ffl 1R ~ 'cf,1 ~ mtn 1,00,000 ~. 

t ill ~ 3WICR 'cf,l llURI cf,lf"1 Q, I 

3WICR 'cf,1 G ~ f1• .. 1l-j;g R ~ : 

wi. q;r1111<1mqr 311'-l•IH <1\1'~ 
1. 2,00,000~. oq;- ~3WICR-!eff 

2. 2,00,001 ~ . .) 5,00,000 ~. oq;- 10% 

3. 5,00,001 ~ . .) 10,00,000 ~. oq;- 20% 

~ 6lfdR6kt, ~ 3WICR q;1 3% ~ ~ wrnT ~ I 

The income of a government employee in financial year 2013-2014 was 

Rs. 3,60,000. He deposited Rs. 20,000 as yearly premium on life insurance 

policy and Rs. 4,000 every month in General Provident Fund. If a maximum 

of Rs. 1,00,000 can be invested in any type of saving to qualify for tax 

rebate, then calculate the payable income tax. 

[5] 

S-2B+ P.'f.O. 
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The rates of tax are as follows : 

SI. No. Tax Limits Rate of 

Tax 

1. Up to Rs. 2,00,000 NIL 

2. Rs. 2,00,001 to Rs. 5,00,000 10% 

3. Rs. 5,00,001 to Rs. 10,00,000 20% 

In addition, a 3% education cess has to be paid over the income tax. 

-w,f-17 'ffl-1 ~'IHI< ~inn~ if, 41•iq:;c'1 ~: Si, S2, S3 i I <If<::~~ cfiT "Sl?.J+! 

1iG', o~ ~1c:1i.rj< ~= ,, 2, 3 m, m ~ ~ fctl 

S-2B+ 

SI+ S3 = 2Sz 

Sums ofn terms of three arithmetic progressions are Si' S2, S3 respectively. 

If first term is 1 for every progression and common differences are 1, 2, 3 

respectively, then prove that S1 + S3 = 2S2• 

a,¥fqT 

OR 

iif;;.iqt;f'l<f ~ ~~"F<ti't ~cfftfu:r-rr ~l~qt;f~~ ~~'F 

cf>l~cf>l~~~l~cf~'Fcf>lc@l'fA~~~I 

5 years ago, I was three times as old as my son. Ten years hence, I will be 

twice as old as my son. Find my present age and my son's present age. 

cos 0 sin(90° -0) 2 (90• 0) -----+ --'------'- = cot -
sec(90° - 0) + 1 cosec0 - 1 

Prove that 

cos0 sin(90°-0) 2 (90• 0) -----+ -'-----'- = cot -
sec(90° - 0) + 1 cosec0 - 1 

[6] 

[6] 
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I 11 I 

a,nr 

OR 

~ ~ ~ ~ ~ ~ <lil fuu ~cfil: ~ ~ ine: ~ 6 ~ "'1 ~ 1R ~ "'1 l{ffl 
t I l:IW" Pl~~ 60° qi! "'1ur 1ARII t I~~""~ WI 4,'lf,ijl( I 

A tree breaks to storm and the broken part bends so that the top of the tree 

touches the ground making an angle 60° with it. The distance between the 

foot of the tree to the point where the top touches the ground is 6 meters. 

Find the height of the tree. 

1,50,000 
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~ "!fffi ~ ~ : 18 I 
Total No. of Questions: 18) 

[!R'l~,ria,'~~:11 

[ Total No. of Printed Pages : 11 

~:3m-J 
Time : 3 hours ] 

General Instructions : 

S-2C+ 

J-201100-C 

Pcl61i! : •lfol<i 

Subject : Mathematics 

";J7G: lNT ~ l{"I if>'l~I( I 
Note : Attempt all questions. 

mi:fi ~ qft dll<l:t4cfidl ~ I 

Graph paper is required. 

Use of calculator is not permitted. 

[~:75 
( Maximum Marks : 75 

(ii) "ll":t'l" ~ 1 if (ft;{ ~ f I ~ ( 3l) if ◄jifqq,{414 "ll":t'l", "Wl6 

(of) if ffl ~ qft 1lfi{ if'-Tl ~ (~) if m-q;~ ro; lTll; f I 

fflcfi "ll":t'l" lR 1 at<!; ~ t I 
Question No. 1 has three parts. In Part (A) Multiple choice 

questions, in Part (B) Fill in the blanks and in Part (C) Write 

true/ false are given. Each question carries I mark. 

(iii) "ll":t'l" ~ 2 ~ 6 "dcfi" a!fo1."1¥'d04 ~ f I fflcfi "ll":t'l" lR 2 at<!; 

a!laifc'.d f I 

Question Nos. 2 to 6 are very short answer type questions. 

Each question carries 2 marks. 

P.T.O. 
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I 2 I 

(iv) ~ ~ 7 ~ 10 (!qi aifd1.1$!'d<l<1 ~ f I~~ 1R 3 aiCfl 
3l1iiflcr f I 

Question Nos. 7 to 10 are very short answer type questions . 

Each question carries 3 marks. 

(v) ~ ~ 11 ~ 14 (!qi 1.1$!'d<l<1 ~ f I~~ if 3lRIITT'i 
fqq,t_.q t I ~ ~ 1R 4 aiCfl 3l1iiflcr f I 

Question Nos. 11 to 14 are short answer type questions. Each 

question has an internal choice. Each question carries 4 marks. 

(vi) ~~ 15 "Q;ci 16 1.1$!'d<l<1 ~f l~~if 3lRIITT'i fqq,t_.q 

t I ~ ~ 1R 5 o1Cfl 3l1iiflcr f I 

Question Nos. 15 and 16 are short answer type questions. Each 

question has an internal choice. Each question carries 5 marks. 

(vii)~~ 17 "Q;ci 18 ~tld'd<l<I ~f l~~if aiidR<li fqq;t_.q 

t I ~ ~ 1R 6 o1Cfl 3l1iiflcr f I 

Question Nos. 17 and 18 are long answer type questions. Each 

question has an internal choice. Each question carries 6 marks. 

W,,-1 (~-al) ~ fqq,(,'q ~ f~f&Q. : 

S-2C+ 

(Part-A) Choose and write the correct option: 

(i) ~ P(x) = 2x2 - 3x + 6 m, m P(2) "<liT 1'IR ffl : 

( 3t) 4 

( if) 6 

( t7) 8 

( G') -4 

If P(x) = 2x2 - 3x + 6, then the value of P(2) will be : 

(a) 4 

(b) 6 

(c) 8 

(d) -4 

[ I l 

• 
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I 3 I 

(ii) oJTf f!Glc!i{OI 4.x2- 4x + 1 = 0 '%i fejfejqrjcji{ c!il ~ ffil : [ 1] 

( 37) 0 
s. 

( or) 1 

fi ( "fl) 2 

( G') 4 

I 
The value of discriminant of quadratic equation 4.x2 - 4x + 1 = 0 

will be: 

(a) 0 

(b) 1 

(c) 2 

(d) 4 

(iii) f.r-:s(-2,4)~~~--qm? [ 1] 

( 37) >!?.Tl, ~~ 

(of)~~~ 

("ff) c[ffi<I~~ 

(G') ~~~~ 

Point (-2, 4) lies in which quadrant? 

(a) First quadrant 

(b) Second quadrant 

(c) Third quadrant 

(d) Fourth quadrant 

(iv) Sin 30° X COSeC 30° qi!~ ffil : [ 1] 

( 31) 1 

( of) 2 

("fl) -1 

( G'") -2 

S-2C+ P.T.0; 
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The value ofsin30" x cosec30° will be: 

(a) 1 

(b) 2 

(c) -1 

(d) -2 

( v) ~~';,;ft!!~ ff~ qft Tf1lAT ~:l!T"tt ~ 11'\ qft ;;nm t-, m fflcfi 
~cfiTTW:Jl-;;rRT~: [ l] 

(at)~ 

(of) fuTn 
( "ff) a:nm 

( G') 'i':fR "TIT 

If in fixed deposit the interest is calculated half-yearly, then rate of 

interest per annum will be : 

(a) double 

(b) three times 

(c) half 

(d) four times 

~-1 ( ~-1{) ft<@'~ qft 1lf<l c1,1f"1Q, : 

(Part-B) Fill in the blanks : 

(i) (Js + t) 3m: (Js -1) cf>I ~I-ii.fl( l'!M __ ll 

The arithmetic mean of ( ✓5 + 1) and ( ✓5 - 1) is __ _ 

(ii) ~ a : b : c m, "ffi' lt't41jqloi ___ m1!T I 

If a : b : c , then the mean proportional will be __ _ 

(iii) ~'f'CI e,;1f-,1~q iM~, ~~---~~ I 
Two circles are congruent, if their ___ are equal. 

The value of tan(90° - 33°) is __ _ 

S-2C+ + 

[ l] 

[ l] 

[ 1] 

[ 1 l 

- ~ 
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I (v) <ITWlmY-113Ticlil~~ mmt, [ l] 
' 

~ 
The sum of two even numbers is always 

( l§Us-lf) .w:r 3l~ ~ f~f&Q, : 1w-f-1 

(Part-C) Write true or false : 

(i) ~~~mi, [ 1] 

Circles of all sizes are similar. 

(ii) x-3l8.'I '!R fte@ ~ ~ cliT y-f.l~~licfi itB mi I [ l] 

They-coordinate of any point on x-axis is zero. 

(iii) 1R lf 7 clfR'. maT f I [ l] 

A cube has 7 edges. 

(iv) ,r<f!cli~ 3l'SR<!8.'I ~ mm t I [ l] 

Service tax is an indirect tax. 

(v) ~ f,ri_pr ll' <rr 'ifill3TI cliT <lTTT m.ro 'ifilT ~ m mm i , [ l] 

In a triangle, the sum of any two sides is less than the third side. 

1w-f-2 <ITT:' (2 + x): (4 + x): (5 + x) m, -at xclil l!R ~~ I [2] 

If (2 + x): ( 4 + x): (5 + x), then find the value ofx. 

1w-f-3 'Sll!P'! ~ ffiil' mY-11311 cliT amIB ~ ~ I [2] 

Find the average of first ten odd numbers. 

1w-f-4 ~(6,8)cf>l~~~~~~, [2] 

Calculate the distance of point ( 6, 8) from the origin. 

1w-f-S llR ~a q;'Jf"'ll. : tanl5° sin31° 
[2] + 

cot75° cos59° 

Find the value of: tanl5° sin31° 
+ 

cot75° cos59° 

S-2C+ P.T,O; 
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S4C+ 

I ti I 

Find the sum and product of the roots of 

x2-5x + 6 = 0 

m ~ fcfi" (2y3 + 4.f + 3y + 1) qiT (y + 1) ~ 'IWT ~ 1R :n11Cfi<.'1 :ip:i 

[2] 

ti DJ 

Prove that on dividing (2y3 + 4y2 + 3y + 1) by (y + 1) the remainder 

is zero. 

Prove that the sum of two consecutive odd numbers is always a 

multiple of 4. 

ll;"ct> <.'1kl~'tfl4 ~ ~ WlR '1.f>1 imN 22 'itm. t I <l'f<:: ~ '1.f>1 W 10 'itm. I, 

[3] 

ol~cfil3WRR~~I [3] 

The circumference of the base of a right circular cylinder is 22 cm. If the 

height of the cylinder is 10 cm, calculate the volume of the cylinder. 

Solve the quadratic equation 3x2 
- 1 lx + 10 = 0. 

Find the equation of that straight line which passes through the point 

(6, O) and whose slope is 2 
3 

~ 

OR 

[3] 

[4] 

-
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i] 

l 
~-12 

~-13 

S-2C+ 

I 11 

~~"at aw-ft~-i:j 5 ~~~l~~-i:f~sll:~cfil+ITTI! 

cf~ cfil f.1..iifcfia ~ -i:f ~ 1TllT t : 
2 3 4 

3 2 1 

A man filled 5 liters of petrol in the fuel tank of his vehicle. The table 

below shows the five days and the petrol remaining on those days : 

Day 1 2 3 4 5 

Quantity of petrol remaining (in liter) 4 3 2 1 0 

Draw a graph between the petrol remaining and number of days. 

m ~ fcl;-"~ aJ.jc:f,jOj ~-i:j cfi1lf q;f q!f 'ffi ~ ,pl3TI %° cflif %° '?WT 

%° 'iifUoR iffil % I" 

Prove that-"In a right-angled triangle, the square of the hypotenuse is 

equal to the sum of the squares of the other two sides." 

31l1<IT 

OR 

~ °¥ cfiT ~ 20 -w:fi. % I ~ 1ifUoR 3ffi aAl-ft< ~ %° .ftT.f cfiT ~ 24 -w:fi. 
%1-;;ficrrcfrr~~~I 

The radius of a circle is 20 cm. The distance between two equal and parallel 

chords is 24 cm. Find the length of chord. 

f.p:::;{ ~ cfiT -.,.if~~~ : 

cl1m 0-10 10-20 20-30 30-40 40-50 50-60 

~ 1 12 24 32 10 5 

Find the medfan of the following table : 

Class Interval 0-10 10-20 20-30 30-40 40-50 50-60 

Frequency 1 12 24 32 10 5 

[4] 

[4] 

P.T.O. 
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~ 0-10 10-20 

~ 4 5 

I 8 I 

3"l1U 

OR 

20-30 30-40 

16 12 

Find the mode of the following table: 

Class Interval 0-10 10-20 20-30 

Frequency 4 5 16 

40-50 50-60 

3 2 

30-40 40-50 50-60 

12 3 2 

~-14 2 ~-~ 1:ffffi 64 illfcl~l q;l ~ ~ ~ ~ lTiffi oiRF!T ~I~~ c!ft 

[4] -

~~~I [4] 

A big sphere is made by melting down 64 small spheres, each of radius 

2 cm. Find radius of the big sphere. 

3"l1U 

OR 

<ITT:~~~~ -afilo1ffi:I 12 ~- o?.TT~ s ~- t o1 ~q;r~'fl:o 
3m: 3W«r-'f ~(1 cf>1 f,;if Q, I 

If diameter of the base of a cone is 12 cm and its height is 8 cm, then find 

the total surface area and volume of the cone. 

~-15 ~ ~ PQR clft ""11 ~I.=!!~ "ITT~ am:~ ABC clft ~ cf>lf"lQ,, 

~ AB='!:_PQ m1 
3 

Construct a triangle PQR. Construct another triangle ABC along with it in 

such that AB = 2 
PQ . 

3 

[5] 
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~ 

OR 

~ ABC ii> 1ffi1TTf ~ 'f>1" "t'oAT cf>lfiill!.. ~ AB = 6 'Wft., L4 = 45°, 

L.B = 60° % I "t'oAT ill 1lG 'ITT f<.1f@Q, I 

Construct a circumcircle of llABC, where AB= 6 cm, L4 = 45°, L.B = 60°. 

Write the steps of construction. 

-w-J-16 <lmi:J ~ ~ ~ ~ ~ 200 ~- 11fd'1it! cf>1" ~ ~ 5 qi.{ ill~ 3lJqfil >ifl'IT 

"ffiffi ~I~~ 'f>1" ~ 6% cnfitcl; "t!l, "ffi 5 qi.{~~ fclicAT ~ mt<! 

mrft? 

Vasim opened a recurring deposit account in Punjab National Bank. He 

deposits Rs. 200 per month for 5 years. If rate of interest is 6% per annum, 

find the amount he will receive at the time of maturity. 

OR 

fcrm<I qi.{ 2013-2014 ~ "Q_ql 1?11~cf>14 i.fi4tj1:fl cf,1" ~ cnfitcl; aw:r 3,60,000 ~- err 1 

~ 20,000 ~- -;;ftcA .fii:rT q'ff<.14) efiT c!lfifcfi sf1f.-14q cf~ 4,000 ~- llfd'llt! ~1'11-4 

~ f.lf'<T ~ >ifl'IT M % I~ ~'ITT of'i'fffi 1R ~ 'f>1" ~ mllT 1,00,000 ~­

%, "ffi ~ ~ 'f>1" TJ1lRl ~ I 

Q'i. ~.:fiTI:rmirr 3D~cli~<fil~ 

1. 2,00,000 ~- (!cfi ~~"'!"ITT 
2. 2,00,001 ~- ~ 5,00,000 ~- (!cfi 10% 

3. 
5,00,001 ~- ~ 10,00,000 ~- (!cfi 20% 

The income of a government employee in financial year 2013-2014 was 

Rs. 3,60,000. He deposited Rs. 20,000 as yearly premium on life insurance 

[5] 

S-2C+ P.T.O. 
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policy and Rs. 4,000 every month in General Provident Fund. If a 

maximum of Rs. 1,00,000 can be invested in any type of saving to qualify 

for tax rebate, then calculate the payable income tax. 

The rates of income tax are as follows : 

SI. No. Tax Limits Rate of 
Tax 

1. Up to Rs. 2,00,000 NIL 

2. Rs. 2,00,001 to Rs. 5,00,000 10% 

3. Rs. 5,00,001 to Rs. 10,00,000 20% 

In adqition, a 3% education cess has to be paid over the income tax. 

cos9 sin(90°-9) 
2 

(900 9
) -----+ _.o...__-"- = cot -

sec(90° - 9) + 1 cosec9 - 1 

Prove that 

cos 9 sin(90° - 9) 
2 

(900 9
) -----+ _.o...__-"- = cot -

sec(90° - 9) + 1 cosec9 - 1 

31Wqf' 

OR 

~ ~ ~ ¥ ~ ~ cfil ft:m ~ cli"{ ~ ~ ~ ~ 6 -i:im cf>l ~ '1:R: ~ <li1 ~ 

t I~~~~ 60° cfiT <li11JJ oA@T t I~~ cf>l ~~~I 

A tree breaks to storm and the broken part bends so that the top of the tree 

touches the ground making an angle 60° with it. The distance between the 

foot of the tree to the point where the top touches the ground is 6 meters. 

Find the height of the tree. 

+'). 

■ 

[6] 
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~-18 'ffl'1 ~¥11-{t( ~ ~ n w ~ <t)•i4i~ ~: SI' s2, SJ f I~~ ~ qiJ "lr'fl'I 

1t'e: 1 ~ ~lclf-{t< sfilffl: 1, 2, 3 ~. <ff~ 4'1f..iQ, fcti 

SI+ SJ= 2S2 

Sums ofn terms of three arithmetic progressions are Sl' S2, SJ respectively. 

Iffirst term is I for every progression and common differences are 1, 2, 3 

respectively, then prove that S1 + SJ = 2S2' 

31211fT 

OR 

~ 'cl"lf ~ ~ ~ ~ ~ cf>l ~ cf>l fu"Tft e.ft I ~ 'cl"lf Wiffil_ ~ ~ ~ ~ 
cf>l ~ cf>l ~~~I~ <f ~ ~ cf>l c@1'lR ~ ~ 4'1f..iQ, I 

5 years ago, I was three times as old as my son. Ten years hence, I will be 

twice as old as my son. Find my present age and my son's present age. 

[6] 

S-2C+ 1,50,000 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

	Button2: 
	Button1: 


